AR ERERR (HILREFT)

[Frx2 7F2R2 6 H~2 8 HAIER]

BT uSv/h
I e R AEE
i E=3 SHI 7,5\ = 15
e REFR BIRER | RS [t
< = Tcm 0.12 0.10 0.15
?%Eqmtggﬁif‘g‘ R ETR PRTRE 50cm 0.12 0.10 0.13
' REE 50cm 0.06 0.08 0.07
- Tcm 0.13 0.12 0.11
RS PRTRE 50cm 0.15 0.13 0.14
"E= | 50am 0.10 0.09 0.09
. Tam 0.12 0.12 0.13
=RER | T 50cm 0.13 0.13 0.14
RE=E 50cm 0.11 0.10 0.10
. Tam 0.12 0.12 0.13
weagss | TR 50cm 0.10 0.11 0.15
"E= | 50am 0.08 0.07 0.07
RREREFH | AR 510”“ g]g g]i 8]‘3*
. (B SREF) _ cr - : -

FPIERILNER "E= | 50am 0.09 0.10 0.09
(EBLLERPT) — Tcm 0.21 0.18 0.17
wamEEm | DR 50cm 0.19 0.19 0.19
"E= | 50am 0.08 0.10 0.09
_ Tcm 0.13 0.15 0.18
BRI RE PRTRE 50cm 0.14 0.14 0.19
"E= | 50am 0.10 0.10 0.09
_ Tcm 0.12 0.11 0.13
ShoRam | TR 50cm 0.13 011 0.11
"E= | 50am 0.07 0.08 0.07
- Tcm 0.14 0.13 0.12
yNDAS=TT PRTRE 50cm 0.12 0.12 0.10
"E= | 50an 0.10 0.09 0.10
_ Tcm 0.13 0.13 0.13
=T SMRERR PRTRE 50cm 0.12 011 0.13
"E= | 50am 0.09 0.10 0.09
. Tam 0.11 011 0.11
KHUREFR PRRE 50cm 0.11 0.10 0.10
AT "E= | 50am 0.07 0.08 0.07
R L R Tcm 0.12 0.13 0.13
HERB 50cm 0.13 0.14 0.12
RE=E 50cm 0.12 0.12 0.10
_ Tcm 0.13 0.13 0.13
LIERER PRRE 50cm 0.12 0.13 0.14
"E= | 50am 0.07 0.07 0.07
. Tam 0.09 0.10 0.10
KEREFR PRRE 50cm 0.10 0.09 0.10
2 FEH] 1%%55 50cm 0.07 0.06 0.07
‘ i — Tam 0.14 0.13 0.14
R EERBFR 50cm 0.12 0.12 0.13
"E= | 50am 0.09 0.09 0.09
. Tam 0.11 0.11 0.11
ST RETR PRRE 50cm 0.12 0.12 0.12
"E= | 50am 0.08 0.09 0.09
- Tcm 0.13 0.14 0.12
=2H samEEF | TR 50cm 0.14 0.14 0.11
"E= | 50am 0.07 0.09 0.08
_ Tcm 0.12 0.11 0.10
=Eiiza)) ofmmEss | R 50cm 0.12 0.12 0.11
"E= | 50am 0.08 0.07 0.07




AR ERERR (HILREFT) [EFRi2752H26H~28HHIER]

BT uSv/h
_ T AlEH
E=3 | ;E = 17
X (2B BIEE | WERS e
- Tcm 0.11 0.12 0.13
= AULIE] s LREFR | TR 50cm 0.10 0.10 0.14
HBE= | 50cn 0.08 0.08 0.07
— Tcm 0.07 0.07 0.07
ilesT:g R EFR PRRE 50cm 0.06 0.07 0.06
"BE= | 50cn 0.08 0.08 0.07
. Tan 0.14 0.12 0.11
#ogH] mERET | P [ Socn K 0.1 0.10
HBE= | 50cn 0.07 0.07 0.08
. Tan 0.14 0.14 0.12
AAHEETR PRRE 50cm 0.12 0.12 0.11
\ ®BE= | 50cn 0.0 0.07 0.07
EHAE] — Tam 0.08 0.09 0.09
A HRER 50cm 0.08 0.09 0.0
®BE= | 50cn 0.08 0.09 0.0
. Tan 0.14 0.14 0.13
IR FHAGEER PRRE 50cm 0.13 0.12 0.13
HBE= | 50cn 0.10 0.10 0.0
. Tan 0.10 0.09 0.0
ch R B RERR PRRE 50cm 0.17 0.09 0.10
HBE= | 50cn 0.0 0.09 0.0




